Sunon

UP1 Series Power Beam
MG.DZZ35-2 Side Screen
Assembly Instructions

This manual is applicable to the installation of the MG.DZZ35-2 side screen
(width: 600/750/1314/1614mm, height: 750/1350mm).

Please read this manual carefully and store it properly before use.



Assembly precautions

o rocan

g Handle gently and put the contents on
a padded area

© Moving the product safely requires
more than two people

e 3@

e Please contact us freely if you have
any questions




Drawings indicate the components of the product, some of which are considered critical components.
If the part shown here does not match your order, please contact us at +86-400-8600-666.

Exploded diagram

~_1

ITEM PART NAME QTY

1 side screen 1

2 |wraparound bracket 1+2| 2/4




Parts listing

wraparound
bracket 1

120.5*121*43 2/4

wraparound
bracket 2

120.5*121*43 2/4

screws

v

round head hex

M6*16

4/8

adjustable foot  M6*22

2

hex key

A# 1




Adjustable Foot Installation;

1.Lay down side screen 1, taking care to prevent damage during placement.
2.Rotate adjustable foot B into the pre-embedded nut manually. Do not
use a power drill to prevent over-tightening or damage to the components.

&3

@ M6*22

(*2)



Side Screen - Adjustment and Pre-Fixing;

1.Place the side screen vertically, ensuring that the side of the adjustable foot to the ground and tr
side with holes towards the tabletop. Adjust the adjustable foot to align the upper edge of the side
screen with the lowest height of the tabletop

2.Insert wraparound bracket Al along the inside of the tabletop, securing it onto the lifting column
from the inside out.

3.Align the component holes with the side screen holes, and use M6*16 round head hex screws for
4.The screws do not need to be overtightened; just ensure wraparound bracket Al will not slide do

=

side screen

>

T

< 8

@ 120.5*121*43 @ M6*16 @ At

(*2) (*4) 1)



Side Screen - Pre-Installation;

Insert wraparound bracket 2 from the top into the gap between wraparound
bracket 1 and the lifting column. Please note the directions.

Please ensure the smooth side of the
bracket is toward the side of the
lifting column.

@ 1205121043
(2)



Side Screen - Fastening;

Tighten and secure the screws.

@4#

(1)






Acceptance precautions

Acceptance!
precautions

i

Q Keep the product surface clean

s
\;9

@ Keep the installation site clean

B




Sunon

Headquarters & Experience Center-Sunon Technological Innovation Park
N0.1666 Zhixing Road,Xiaoshan District Hangzhou,Zhejiang,China

TEL: +86 571 8816 6666 PC: 311200

www.sunonglobal.com

f o in] Firm's Website Wechat accol


http://www.sunonglobal.com

	MG.DZZ35-2侧屏安装说明书-中文 安装说明书 (1)
	MG.DZZ35-2侧屏安装说明书-中文 安装说明书 (1)
	MG.DZZ35-2侧屏安装说明书-中文 安装说明书 (1)
	MG.DZZ35-2侧屏安装说明书-中文 安装说明书 (1)
	MG.DZZ35-2侧屏安装说明书-中文 安装说明书 (1)
	MG.DZZ35-2侧屏安装说明书-中文 安装说明书 (1)
	MG.DZZ35-2侧屏安装说明书-中文 安装说明书 (1)
	MG.DZZ35-2侧屏安装说明书-中文 安装说明书 (1)
	MG.DZZ35-2侧屏安装说明书-中文 安装说明书 (1)
	MG.DZZ35-2侧屏安装说明书-中文 安装说明书 (1)
	MG.DZZ35-2侧屏安装说明书-中文 安装说明书 (1)

